% RIVAL

POWERSPORTS

m ATV TRAILER INSTALLATION MANUAL
m MONTAGEANLEITUNG ZU UNIVERSALANHANGER

ATV TRAILER 1500 + FITTING KIT

2444.0091.2

WWW.RIVAL4X4.COM



<,
Q%

I,
©)
<

¢

> RIVAL

POWERSPORTS

EN Regular fasteners
DE Schraube herausdrehen

EN Regular fasteners
DE Schraube eindrehen und festziehen

EN Screw a several turns
DE Schraube wenige Umdrehungen eindrehen

EN Loosen bolts
DE Schraube wenige Umdrehungen I6sen

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Blickrichtung / Postionsrichtung

EN Screw Arrow
DE Drehrichtung



% RIVAL

POWERSPORTS

S-10;

EN Ratchet S-13; HEX
DE Ratsche s-17;
s-19;

S-21

nn
"
uh

e
20 @ 21 % 22 23 24 25 ‘@"‘

M12x80 x4 | M10x100 x1 |26 x8 | 28 x16 | 210 x14 | M6 x8

26 27 , 28 ' 29 30 31 left
el ! e =

M8 x10 | M10 x7 [ M12 x4 |12 x8 | #8 x10 | 127x1422 x1

32 @ right |33 34 36 @




% RIVAL

POWERSPORTS




“° RIVAL

POWERSPORTS




POWERSPORTS




“ RIVAL

POWERSPORTS

PN

23,26 7

18,23




“ RIVAL

POWERSPORTS

LEFT = RIGHT




“ RIVAL

POWERSPORTS




POWERSPORTS

LEFT=RIGHT




POWERSPORTS

FRONT=REAR




“° RIVAL

POWERSPORTS

LEFT=RIGHT

PN




% RIVAL

POWERSPORTS

FRONT=REAR




POWERSPORTS




POWERSPORTS




% RIVAL

POWERSPORTS

992 mm

820 mm

300 mm

L/

£ £
E| £
_,=;1
a
/
f
170 mm
'3
£
£

AN I |
o) T T

720 mm

P = ]

1500 mm

420 mm

570 mm

920 mm




